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(600 ) Al E( 670 ) IRl MEh( 672 ) ERR|AIMYE 4 (01 ) YeSAMUS (e Q)
s oquey [ B =y
# g Hg-S of A+ o
e A 76,314,595 65,398,398 10,916,197
600 Atgs 41,508,279 37,653,279 3,855,000
670 FYAr 13,715,746 9,860,746 3,855,000
672 ERAMY=ZSY 13,209,746 9,354,746 3,855,000
01 LERAIMYZ 12,855,000 9,000,000 3,855,000
O Yes|A M=
( 12,855,000,000 ) - 7|4 (9,000,000,000&x14l) = 3,855,000




) AlEaAel  BH(180) SEALD  MER(181) AMAYCE  Si(01) aMZR0E (21 : 1)
= 2
?.:P-%o*-}kﬂi*-% An || BF
100 A=A 8,361,197 1,330,000 7,031,197
180 REARZ 8,361,197 1,330,000 7,031,197
181 &MAKYAHZ 7,961,197 930,000 7,031,197
01 &AMAYGS 7,961,197 930,000 7,031,197
O &hAANE +=L
44 (7,961,197,000& ) - 714 (930,000,000%) = 7,031,197




[ d==a ]
21(100 ) AHEEAQ  BE(170) AHEQIOIEAD  MEH( 173 ) ERPIZIMEEZAY (03 ) AlSHEZI4Y) (2] : 212)
e oaey |7 B2y
28 Ag-= of & o

100 AR=24 23,314,279 23,284,279 30,000
170 A2Ydoiz4Y 23,314,279 23,284,279 30,000
173 ERAAHMEERZ4+Y 21,905,480 ( 21,875,480 30,000
03 AlcHEZ23Y 17,978,480 17,948,480 30,000

O&EL7|7| A 2AY EHIEZF 30,000,0002x14] = 30,000






